[Even If You Shot a Bad Gun , You Can Hit It]

% Observe that the person who shoots the bad gun

at least once.
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A Bad Gun

[Even If You Shoot a Bad Gun,
You Can Hit If You Shoot a Lot]

Number of shots = 19

Number of hits =2

Number of successes

/ Number of experiments
=11/13
=(0.84615386

Mathematical probability
of hitting at least once
= 0.8784233

% Consider the probability of hitting at least
once when you shoot 20 times with a gun
shot that hits once in 10 times.

# When you touch the screen , it repeats

in the order of [Auto start] — [Auto stop]
— [Initialization].
# When the screen goes dark ,
touch the title bar!
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, and if he shoots a lot , he is likely to hit
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A Bad Gun

{Even It You Shaot a Bad Gun,
You Can it it You Shoot a Lotl

Numibes of shols = 17 |

Murnber of hits - 0
Number of successes
/ Number of experiments
=36/47
= 07659575
Mathematical probability

oif miting ai ieasi once

= 08784233

® Consider the probability of hitting al kast
exrtor when you shost 20 times withoa gun
shot Bl hits ones in 10 times
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There is a saying , "Even if a person who shoots a bad gun shoots a gun , he will hit it if he

shoots a lot."

A person with the skill of a gun that hits once in 10 times shoots a gun.

He fires 20 guns in one experiment . What is the percentage of experiments that hit at least

once out of 20 shots ?

Also , let's mathematically find the probability that at least one of the 20 shots will hit.



